Bounds Problems

E)ﬁ ] A Co/fcé mealuwes SLO n 53 2,4,0..\
Q,a..c.L M&&SV(&.“-\.cv\,l— c_crfc_&(' éo he.a.r‘e!‘{' | O ctm

£l uppar ank l6wer bowwds £or [Es aree
Gt perineber,

Aroe = L xW Porinebe, 2L +2W

V.5 & L 4 1T.¢5
2.1 = W <& 2.4¢

U(f-l-f gou-ﬂoA Fo/’ A'I'Zg - k\e\-/\l_ % ot Y
< 3-8 x 2-4€
g.‘i42f u-\l

\n

Lowv 400-‘/‘ fpaf AJ‘:&.

'A"."‘L ~ e W

~ &.3425 wn "

)

U/)().L./ “OU«\-/( —éf Pc/,.\,,‘a‘-.cr

- 2x 3.0 +2%2.45 = 12.2m~
Low-c/' «aun/ 'Aaf P-é_/t‘u\.e'("-c/'
= 2x 3:5¢ 4+ 2x2.3€ = ([ . B wm
~
£x2 ‘
(\YO‘\V\ yums$ [0 O »m | o | 2 SecoAS

’\’Lf_ M:S’l'a.-.cz ;S mealSured **a {—\—\< vxe.«/e:(’ .rv-\



te. X ElLe Eime (( mealorel €o tULnEarert Seconds

ci»\/f VPF-({‘ oA o ruer bovd s Aor | e AvCrae S(zev(

1475 & N¢duae, & 102.5
[1.¢ € Time = 12.§

D (HFrnce

Tine

.{pt‘\:d —

Uppes Coumd Aur Speed = 24 Vicke 525

"\:n T (e - }I.f

- K.al h-\s-{

Louef Gw.u( AJ‘ .(fze./( - va\ ’D;Sb&_“& B q-?.g'
33

M a+ Tie te

~ C
T 1.8 ws

E xercite 23C Clve €oole P«5< =

lh) A'(C—‘\, 'S'—G“‘" X J’.C_u-._. (V\-c.c...rql’ Ch—)

£ £ Legt € 98
£ = wAdth < $-

§<xas & Pee < A 3r$-S

7.

ZZ'ZYC\ f_’ A’Zk P S-Z.Zg- Ck‘_Z



H'k)k KZV‘SC For In(}:beg -[:e,sf O MOAJQJ



